The method of Vonn diagrams

step It Divw standnnd representations for both
the stintements separtely as given below:

Noto: By standuord representation we
represent the way which is the most
common and usunlly sufficient (o
denote the stonilement,

For eg.- “Some X are Y” can be
represented ns:

610 or @Y o

But, for all practical purposes the first
of these representation suffices. And
this is the standard representation for
an I-type proposition.

Types of Statements:.
1. All books are pens - A type (Means all +ve)
2. No books are pens - E type (Means all -ve

3. Some books are pens - 1 type (Some ct,ve))o
4. Some books are not pens - 0 type (S{me -ve)'

Given below is a table of standard
representation. &

Statement of type

Qﬁﬁm .| G—®

Btep II: Now try to combine the representations
{as drawn in step I) in as many ways
as possible.

When we say as many ways as
possible, we mean that you should
combine the representations in all
Possible ways. For example, if
statement (1) is “All X are Y” and

Note;
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statement (2) jg “SomeY are z»

then th
standard representations are: ©

v

They can be combined it
n-more than on
ways. The possible wa )‘-a.ré:"" )
5‘ 4

.A‘
\;:___./
or, Fig. (ii) E
1Y /75{.‘." L/
or, figf.f]ifi}{
SN RN

-
.y

e

s T Hercfore, step H asks you to draw all
%ossible combinations.

Btgii;ﬂI:Finally, make interpretations of the

Ui

3
5

Ex. 1:
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combined figures (obtained from step
IN). Any given conclusion will be true if
it is supported by all the combined
figures and no combined figure
contradicts it.

For eg. In the illustration to step I,
we see that a conclusion that “Some X
are Z” is supported by Fig. (ii) but not
by fig. (i). Since it is not supported by
all the figures it does not follow.
Minimum encroachment technique
will make your work easier.

Choose one from the above three
diagrams (a, b and c) the one which
has least encroachment. A careful
survey of the figures reveal that figure
(i) has minimum encroachment. In
figure (i) the whole part of X is inside
Y. Some part of Y is in Z but we do not
have clear information about the
relation between X and Z.

Figure (i) is sufficient to consider the
conclusions.

Statements:

All cats are bats.

All bats are tables.

Conclusions:

() Some tables are bats.

{11} Some tables are cats.



Bol.

8tep I: Looking at table, we draw the standard
representations for the two

statements:

Let B = bats, C = cats, T = tables,

Step II: Now combine figure (1) and figure (2)
in all possible ways. Figure (1) and
figure (2) can be combined in only one
way. That is:

&

Step III; We sce that both conclusions: ‘Some
tables are bats’ and 'Some tables are
cats’ are supported by the combined
figure. Hence, both conclusions follow.

: Statements:
Some tables are watches.
Some watches are lamps.
Conclusions:
{I) Some tables are lamps

Now see the conclusions given

Since we do not have any inf
about the relation betweep the auo
and lamp. So we canng, . ble
whether the two conclusiong are Cidy
or wrong. C rigy,
We must pay attention thay
conclusions cannot be
simultaneously. . \
So one out of two concluslons
definitely correct. &,’ Sy,
Prepare your solutwn bQSed
minimum en achtncht technigue f“
the examples gwen fizbelow.
Statements

No tables*are\?vatchcs
Some az:hes are lamps.
Coucmsiqn
{I] Some lamps are not tables.
P \_rx(ill Some lamps are tables.

SoLa - 4_,"'

Step,l,, We draw standard representation g
drawn in the table or step 1.

bﬂlh lh
’“. rbng

Musy be

Note:

Ex. 3:

- r o¥ NEEETITD
(If) Somc tables are not lamp

Sol. Step I:

Let T = tables, W = watcﬁta. L= lamps

Step II: Combining figure |
all possible wayg,

figure (2) in

Out of the four figures, figure (i) is the
minimum encroachment fi igure.

Accordmg to figure (i), some part of
table is watch. Some part of watch js
lamp but we do not have any

information about the relation between
table and lamp,

Let T = tables, W = watches, L = lamps

Step II : Now we combine the two figures in all
possible ways. They are:

or (iii)

Step 1II: We see that the conclusion ‘Some
lamps are not tables' is always
supported by all the poss:blc
combinations. Hence the conclusion {l]
is true.

Ex. 4: Statements:

All rivers are mountains.

Some rivers are deserts.

Con_clusions:

{) Some mountains are deserts-

(1) Some deserts are not mouﬂtf“"sb

Sol. River = R, Mountain = M, Desert®

174
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sep I :
Ex. 7: Statements;
Some Cngineers are teachers,
Sorne engineers are efficient,
. Concluslom:
ep I Co (1) Some teachers are efficient.
{1!] All efficient are engineers.
SoL Eﬁ:'lst m]ent =E, Engineers = G, Telzr =T
- ep
g1: When aill rivers are mountains ang
step rivers are deserts e

then some

S. Therefore,
ect.

mountains will be desert
only conclusion {1} is corr
Statements:

Al Tnen are horses,

All horses are elephants.
Conclusions:

() AH men are elephant.

(i) All elephant are men_
Elephants = E, Horsges =

Ex. 5

H, Men=u
SeL Step ! & II

a7

{*

Py
Step Il When all men ar horses and
all horses are elephants therbpaturally

all men are elepharits, but all
elephants need not be nen.

only conclusion (l) is’coxréct.

Ex6: Statements:
All talented persansiare trustworthy.
Some trustw by are musicians.
Conclusi.ﬂ‘nﬁg‘%'

I} Al pik nd persons are musicians.

(I S_Qm%usicians are not talented
EESONS.

ented person = P

‘{3‘ @ Trustworthy = T

‘{Z Musicians = M
Sol. tep 1 & i1

SR
o (G
Step fll According to venn diagram,

~Conclusion (I} and (1f) both do not
follow. -

Ex. 9:
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“Therefore Sel. Stepl

Step 1i] When some engineers are
teachersithjen some teachers are
fEngmeers.‘Also, when some engineers
_2rg eflicient, then some efficient are

/\c engineers. Therefore, both the
£~ NCONclusions are do not follow.
Ex.{;ﬂ:‘

XNt

“Statements:
Some foods are sweet.
Some foods are sour.
Conclusions:
(I} All foods are either sweet or sour.
(1I) Some sweet are sour.
Sour = 8§, Food = F, Sweet =T

QRO

Step Il

Step [l When some foods are sweet and
some foods are sour, then all foods are
not necessarily sweet or sour and what
is sweet need not be sour, Therefore,
neither of the conclusion is correct.
Statements:

All cups are goats

All goats are tins

Conclusions:

(T} Al goats are cups

(I} All tins are goats

(111) No cups are tins

(1V) No tins are cups
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(1) Only conclusions lil and IV follow
{2) Only conclusion L and Il fallow
(3) Only conclusions I, I and 1il follow
(4) All conclusions are correct
(S) None of these
Cup=C,Goat=G, Tin=T

Bol. Stepl &l

T

Step Il When all cups are goats, then
some goats must be cups. when all
goats are tins, then some tins can be

goats. When all cups are goats and all Sol

goats arc tins, then naturally all cups
arc tins and some tins must be cups.
Therefore, all the conclusions are do
nol follow. Ans (5)

Statements: 4
All birds are peacocks.
All peacocks are farmers,
Conclusions:
(I} Some farmers arc birds,
(11} Some peacocks are birds.
{1} Only conclusions I and, {Tfgllows
{2) Only conclusions |l ™M follow
(3) Data is insufficient
(4) All conclusiong. ari:
{5) None of the 5\
Birds = B, Pe cqs} = P, Farmer = F
8ol. Step 1 & 11

-
>

Sep 11T When all birds are peacocks,
which are all farmers, then all birds
are farmers. When all birds are
peacocks, then some peacocks must
be birds and when all birds are
farmers, then some farmers must be
birds. Therefore, all conclusions are
correct.

Ex 10:

‘C‘}

rrect

Ans. (4)

Ex.11: Statements:

Mo

A

No chair is tree.
All trees are trains,
Cohclusions:
(1) No chair is train.
(i) No trains is chair,
(11I) Some trains are trees 4o
{1V} No train is tree. &7
(1) Only IV follows ”
(2) Only 111 and IV follow ‘3/

¥
(3) Only L angH f

(4) Only Ul de HI fpllow
(5) None oft- Py

Chair ="C Tree T, Train = R

Ste ?';3,“
S0l
“\:»;:

“"-"w

e, \Step I1 R
€ ¥

Ex.12:
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0J0,

Step Il When all tree are trains then
some trains must be trees. Also from
the given two statements we can
conclude that some trains are not
chair. Hence, no chair is train and vice
versa cannot be established with
certainty. Therefore, only conclusion
ill is correct. Ans. (5)

Statement: ,
Some bags are pockets.
No pocket is a pouch.
Conclusions:

{I) No bag is a pouch.
(1) Some bags are not pouches.
(Ill) Some pockets are bags.
(IV) No pocket is a bag.

(1) Only either 1 or IV follow

(2) Only II and [I1 follow
(3) Only I and Il follow
(4) All follow

(5) None of follows

Bag = B, Pocket = P, Pouch = c

-



gol. Step 1 <D

Step 11l Some bags are pockets, go some
pockets must be bags. Also, when

Some bags are pockets' and no
packets are pouches’ then we can
conclude that some bags (which are
pockets) are not pouches. Therefore
only conclusions Il and 11l are correctj
Ans. (2) '
Statements:

All soil are diamonds.
No gold is a diamond.
Some golds are foils,
Conclusions: .
{I} No soil is a diamond.
{11} Some foils are not diamonds.

{lil) Some soils are golds.
&;\&:’

{IV} Some foils are soil.
_.@%u =F

Ex. 13:

(1) Only I and Ii follow
(2) Only Il follows
(3) Only 1 and I follow-
{4) Only 1, III and IV follow
{5} None of these
Soil = 8, Diamond = D, Gol
Sol. StepI & 11

S nly 11 follows

Ans. (2)

Ex, tatements:

me bells are flowers.
Some cards are bells.
No cards are papers..
Conclus}:nu:
() Some bells are papers.
(Il) Some papers are not bells.
{111} Some flowers are cards.
(IV) Some bells are not papers.

Ep
R

(1) Oniy 1l and 1V follow

(2) Only 1 anq 1 follaw

{3) Only 11 follows

(4) Only 1v follows

(S) Eitherlor v and I follow

Card = C, Bepy =
Sol. Step'l & "e]} :: Flower= P, Paper =P

Ex. 15: Statementf: N
Some diariesiarghockets.
All pockets are digitals.
Some tg;ia! are purses.
'+ Copclasiop -

e g N .
1) SBluc pockets are digitals.

,% Pome diaries are digitals.
% Iif) Some diaries are purses.
{iv) Some diaries are not purses.
(1) Only I, Il and IM follow
(2) Only I, Il and IV follow
{3) Only Il and 1II follow
{4) Only 1l and either III are IV follow
(5) Only 1, 1i and either 1 or IV follow

Diary = D, Pocket = P, Purses = R, Digital =1

offP)r (®)

Sol. Stepl

Step Il

Step 11l Here 111 and IV are complementary
pairs and statement I and 1l follows.
Ans. (5)
Ex. 16: Statements:
Some pillows are beds.
Some leaders are pillows.
All ministers are beds.
Conclusions:
(I) Some pillows are not beds.
(i) No pillow is a minister. .
(111) Some leaders are not PlllOWS.
i (IV) Some ministers are pillows.
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(1) Either I or IV follow

{2) Either 1l or IV follow

(3) Either 1 or IV and II follow
(4) Only 111 follow

(5) None of these

Leader = L, Pillow = P, Bed = B, Minister = M

Sol. Step I & 11

Ex. 17:

Black = B, Goods = ®

.,..

or

Step Il Here Il and 1V are cample-

mentary pair. So either 1] or IV follows.
Ans, (2}

Statement:

No water is black.

All goods are green

All blacks are good.

Conclusions:

{I) Some greens are not water.

(I1) Some greens are black. % g/

(11I) Some blacks are water. i

(IV) Some blacks are grcen}f

(1) Only H and IV followf‘-{‘q%

{2) Only I, U and IV folfc

(3) Either I or I folldW' .

(4) Only I, U1l andy]V:follow
(S} None of thes@
n=G, Water=w

Step 111 Only 1, ll and IV {ollow,

Rule of complementary pair

Ex. 18:

Anl. (zl

If out of all two conclusiong of 1
statement are doubtful and out fthe ¢
two conclusions one is positive gnq tl:e
other negative and the termg. “bject:
and predicate) of both the cohdlyg;
are same, then both he’«‘:!{f)ﬁ%?s )

+ - P>
make the conclusions ‘gf, “5'6%" case.
w:

See the examples given.b
Statement: ‘_4% '
1. All books apers.

2. Some pabers areé pencils.
Conclusio

(1) All bogks are pencil (-)
{TI) Sonmy oks are not pencil {-)

A .
S pgil'i;.;noncf’usnon‘s are doubtful anqg
“‘qpn"'&}usion (I) is positive ang

R §3ﬁclﬁsion {ll) negative and the termg

%y

s
s

oy

+‘pencils’ are same then conclusion ()

" 6f Both the conclusions i.e. ‘books’angd

LY
g—.. . Tand (1) form case of ‘either’
RS
iEx\._:,IQ: Statements:

Q}%}

Sol.

Ex. 20:

178

Some rods are trees.

Some trees are flowers.
Conclusions:

(1) Some rods are flowers. (-)

(II) Some flowers are trees. (v}
(I} Some rods are not flowers. {-)
(V) Some trees are rods. ()

Both conclusions I and 111 are doubtful
and conclusion (I) is positive and
conclusion (Iil) negative and the terms
of both the conclusions i.e. ‘rods’ and
flowers’ are same then conclusion (I}
and (II) form case of ‘cither’. So answer
will be:- only either (I} or (I11) and {I) &
(IV) follow.

Statements:

Some toys are pens.

Some pens are papers.

Some papers are black.
Conclusions:

{I) Al toys are black. {(-)

{li) Some pens are not black. (-)
(1) No toy is black (-)

(IV) Some pens are black (-)



(1) None follows
(2) Only either [ or IV follows

3) Only either I or 1l and ej
¥ WV follow sither I or

4) Only either I or 111 follows
(5} None of these

all fi 1 fai3)
Here, our conclusions are
conclusion (I} is positic\lrc::ubgzii
conclusion (I1I) is negative and th
terms of both the conclusionsi.e. ¢ to Se’
and ‘black’ are same then concélusi).;n
(I) and (III) form case of ‘either’. Again
conclusion (II) is negative angd
conclusion (IV)is positive and the
terms of both the conclusionsi.e. ‘pens’
and ‘black’ are same. So conclusion (I1)
and (IV) form case of ‘either’. Ans. (3)

Statements:

sol.

Ex.21:
Some beggars are leaders.
No caps are keys.
Some caps are beggars.
Conclusions:

(1) Some caps are leaders.
() Some beggars are keys.
(I1l) Some caps are not Iea%c 5. T
(IV) Some beggars are nog.keys;
(1) Either I or 111 and 1} fqg;f

(2) Either Il or IV eﬁgé’?@?{}oﬂow
(3) Either 11 or 1V/8ihd il follow

Cap = C, Beggaj
Sol. Step & i

Ex. 22:

IREEE B~ iy WL

or

Here, conclusion 1, 11

an 11
cci:t;l:lb]tfu! anq conclusion Q% ';li:
o e usmn‘l is positive and'co iusion

18 negative and th of both
the conclusionsi.e. ‘c ‘beggars’

are same then concl %ﬂ and Il form

case of ‘either’. Souapsik ill be ei
Vor Il and Lv"foﬁo{g;w wilibecliher
e B

£
$
Statement%ﬂ/

1. Somg‘-ﬁads are not symbols.

Ans. (5}

,ef_h
2. Al | o}s are letters.
8. SHme” éfters are boxes.

N
. fgdgglusions:
&%%;‘« {I);Some boxes are pads.
(1) Some pads are not boxes,

£ “xef (1) Some pads are not letters.
i

(IV) All symbols are boxes.
(1) Only | follows

{2) Either I or Il follows

(3} Only IV follows

(4) Only 11 follows

{5) Either I or i1 follows
Symbol = S, Letter = L, Boxes = B, Pads = P

go1

(P

Sol. Stepl &1l

or

i} (s ) B>

CPD

' Here, both conclusions {I} apd (i) are
doubtful and conclusion (1) 1s positive
and conclusion (1)) negatwe-and the
terms of both the conclusions i.e.
‘boxes’ and ‘pads’ are same thex}
conclusions (1) and _[Il} form cas_::h 21'
‘cither'. So answer will be only €l

(I or (11) follow. - Ans. (2}




Kxervine:

Directions (1 2300 In each ot the gueations
Below wre given two/three stateinents Rdhowed
by two conclusicns nmbdened 1 and 11, You
have to take the given statements to be true
even if they seem to at variance from
Commonly knowun tacts, Read all the
conclunions and then decide which of the
given concluatons logicalty fdlows trony the
glven atatements disreganding commaonly
known fucts,
Give answer:

(U only Coselusten 1 fisttown s

=1 W0 enty Conclusten 1 follows

{3 U eithier Conclusion 1 oe i Sollows,

CH i netther Conclusion 1 nee 1 fllows,

(SHf both Conclusions §and 1 follow
1. Statements:  Nome kites are thremds,
No theead (s neadte
Conclusions: 1. Suimne htes ate neadies.
WL No teedle s tuead
2 Statements:  Some books are P,
All pens are paper.
Conclusiona: 1. Rome PRES are
1L Al books are Pafees g
All chairs awre Duildings

an
Al tabiles are Mddines.

3. Statements:

Conclusions: I Some ch;u@g tuablex,
. TRN .
1L Rome tilcsere chairs,
4. Statements: Some t Fare houses.
<

% 15¢S are thins

Conclusions: 1. rins are trucks.

@)\\ train is tnuck,

S. Statement AW Ilowers are trees,
All trees arve fruits,

Con&% H

Qg.

IL All flowers are fruits.
All pens are roads,
All roads are houses.

I. Some fruits are Qowers.,
6. ents:

Conclusions: I. Aj) houses are pens.

II. Some hotses are pens.
Some books are bags.

All bags are treey.,

L Some books are trees.
I Some trees are books.

7.  Statements:

COnclualom:

-
w
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Statementsy Some botiles

f\ﬁ;.{'}'\il Jungies

T fome trams

Bame wandaows Al
. e dl\(}r&
No deor s chase

1. h““.‘c wy Ndowg
chairs Te

AN doors
1t - U doors are \\1:1(10“.&
All forests are Ugery
{omc Hgers are hoe
\\\:‘l < tgrrf. 1{:3::\ hﬁf&bs_
1. Sfame lwmh‘mfom&
1. No horsg isoregy
~ {\\ g
b\\tnc’&b‘:.&_::? Wre traing
SOMIITUNS are baats,
a
| Sor e buses
1L Seme boats are buses.
AT Jungles,
are birds,

Conclugions: V¥ Swine binis are botules.

a4
= Statementx
Cuaneluaiona:
3 Statements:
Cunclusions:
10 Statements:
Coneclusions:
il
L2 %é‘t‘"tn\;nts:
AN
;-'&Qiﬁnclusions:

&
‘\:g;ei\c_}. . Statements:

Conclusions:

Statements:

Conclusions:

Statements:

Conclusions:

Statements:

Conclusions:

Statements:

Conclusions:

H. All bottles are binds,
Fomie Lottles are tables
Somce tadles are mirmors,
1. Bome mirmors are books.
I1. No Book is ntitmor.

All roads are water,
Tome water is baat.

1. Some boats are roads.
11, All waters are boats.
All lowers are tees.

NO 1Truit is tree.

L. No fruit is flower.

II. Some trees are flowers.
All pens are chalks.

All chairs are chalks.

I. Some pens are chairs.
IT. Some chalks are pens.
Some buses are bells.
Sonte bells are horses.
AH trains are horses.

I. Some buses are horses.
II. Some trains are bells
All goats are kites.

All roses are goats.

All kites are bees.

I. Some kites are roscs.
II. Some goats are bees

!I



18. Statements:

Conclusions:

19. Statements:

Conclusions:

20. Statements:

Conclusions:

All classes are lions.
Some birds are classes,
All pens are lions.

I. No pen is bird.

II. Some birds are pens. 23.
Some candles are papers.
All papers are trees.
Some books are papers.
I. Some books are candles,
II. Some trees are books.
All bats are elephants.
Some balloons are crows.
All crows are bats.

I. Some balloons are
elephants.

II. Some elephants are 24-

CTOWS.

Directions (21 - 34 ): In each of the questions
below are given three statements followed
by three conclusions numbered I, II & 1.

You have to take the given statements to be f&
trme even if they seem to be at variance &% @
=

commonly known facts. Read all], t

conclusions and then decide whichsof thi
given conclusions logically follows from the
given statements disregarding commosily

known facts.
21. Statements:

Conclusions:

All petals arftrees.
All trees are
are gardens.
are trees.
gardcns are trees.

,jﬁ?samegardensmw@&
(1) Only I algdz?go low

(2) Only
(3) Only

S

22. Stat€ments:

Conclusions:

{1) None follows

I follow

. d 111 follow
¥ and 111 follow

All keys are locks.

No lock is toy. 26.

All bags are toys.

L. No bag is key.

Il. Some bags are keys.
IIl. Some toys are keys.

e dens. 25.

(2) Only | follows

(3) Only 11 follows

(4} Only 111 follows

(5) Only)and 1 follow

Statements: Some days are nights.

Some nights are ths.
Some month aégérs.
Conclusions: I.Some yeurS ights.
I1. Sormne ﬁ‘ﬂﬁs are days.
III. No yh;% night.
(2) Only 11 follo‘ 5

7
(3) Only I follo
(4) Only eit};%l or Il follows,

(3) Nono‘aﬁof@b@l
St?‘teﬁé@ 1cycles are tyres.

A, Some tyres are wheels.
. e
T, 7

(1) Only I follows

All wheels are buses.

4
{da!uclusions: I. Some buses are tyres.
o

I1. Some wheels are tyres.
II1. Some buses are cycies.

{1} Only I and I follow

(2) Only I and 11l follow

(3) Only 11 and 111 follow

(4) All 1, 11 and 111 follow

(5) None of these

Statements: Some dogs are cats.
Some cats are horses.
All horses are tigers.

Conclusions: 1. Some tigers are cats.
I1. Some horses are dogs.
II1. Some tigers are dogs.

(1) None follows

(2) Only ! follows

(3) Only I follows

(4) Only III follows

(5) Only I and III follow

Statements: All ropes are sticks.
Some sticks are hammers.

Some hammers are lakes.
I. Some lakes are ropes.

1. Some hammers are ropes.
I11. Some lakes arc sticks.

Conclusions:
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(1) None follows
{2) Only I follows
(3) Only II follows
(4) Only 1] follows
(5) Only 1 and II! follow
27. Statements: Some leaves are baskets.

Some baskets are flowers.

Some flowers are lakes.
Conclusions:

IT1. No lake is basket,

(1) Cniy I follows

(2) Only II follows

(3) Only 111 follows

(4) Only either I or 111 follows

(5) None of these
28. Statements: All pictures are bands.
Some bands are chairs.
Some chairs are tables.
1. Some tables are bands.
IL. Some chairs are pictures.

Conclusions;

I11. Some tables are pictures. §*%»,

o

(1) None follows

{2) Only 1 follows

(3) Only It follows

{4) Only 1 and 11 follow
(S} Only i1l follows

EY

29. Statementa: Some blkes ars,
Some carg ar ins.
Some t;r} fe buses.
Conclusions: 1. S : es are cars.
1I. rn‘ trains are bikes.
me buses are bikes.
(1) None follo
{2) Only I folmw:
(3) Only 1 o@s
(4) On llows
d 1l follow
30. sements: Al dogs are cats,
Some cats are rats,
All rats are mats.
Conclusiona: 1, Some mats are cats.
IL. Some mats are dogs.
) |
{1) Only 1 follows . Some rats aro cats.
(2) Only 11 follows

1. Some lakes are baskets.
II. Some flowers are lakes.

(3) Only 111 follows
(4) Only 1 and 11I follow
{5) None of these
31 Statements: All cups are berlches_
. Some benches are d

All drums are kites,

I. Some kites ar. s,

H. Some kites qf-e ch
cs,

1. Some erm\’,arg cups

S

i

Mimg,

Conclusions:

(1) None follows
(2) Only 1 follows
{3) Only 1l follow
{4) Only 111 foll
(5} Only 1l and {U _Eeflrlgw
32. Statements' Sorme boxes are walls,
N_o wall is road.

oo ”2 roads are rivers
Concluiona Some rivers are wallg
II. Some roads are boxes
"%‘%#“%@, II1. No wall is river
(Ilﬂnly I follows
o () Only either I or I1I follows
L3 [3) Only I1I follows

{(4) Only 11 follows
(5) Only 1l and III follow

Statements: Some tables are chairs.
All chairs are houses.
All houses are tents.

Conclusions: 1. All houses are chairs.

II. Some tents are chairs.
111, Sorne houses are tables.
(1) Only I and I follow
{2) Only I and 111 follow
(3) Only I1 and 111 follow
()ANL I and 11T follow
{5) None of these
34. Statements: a)) pPens are sticks.
All sticks are rings.
All rings are rods.
L. Some rings are pens.
IL. Some rods are sticks.

III. Some rods are pens.
(1) Only I and 11 foliow

(2) Only | angd I follow
{3) Only It and 111 follow
(MANL I1ang 111 follow
(S) None of these

Conclusiong:
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puectlons (35 - 39): In each of the questions

pel

ow are given three statements followed by

four conclusions numbered I, II, III and IV,
you have to take the given statements to be
true even if they seem to be at variance from
oommm’ly known facts. Read all the
conclusions and then decide which of the
given conclusions logically follows from the

jven statements disregarding commonly

known facts.

35.

36.

37.

gstatements: All flowers are rooms.
Some rooms are windows.
All cards are windows.

Conclusions: I. Some cards are flowers.
II. Some cards are rooms.

III. Some windows are
flowers.

IV, All cards are rooms.
(1) None follows

(4) Either | o
IV and 11
(S} None of these ollow

38. State 3
ments: No building is white,
All whites are oranges.
Sorne oran
Conclusions: e ts

L. No building is myter.
1L No orange }s& 'fding.
m. Somcﬂi%}%yewmtcs.
. V. Som tets building,
(1) Either I or IV and

(2) Either 1 or I)&tﬁ‘ncﬁ?y&low

(3) Either 1 or Ix‘follo s

(4) None follows

(5) Either lféa_lv and II and I1I follow

-l
39. Statem;e_g%j;w‘ﬁ Sbme mangoes are apples,
@ % ome bananas are apples.

ra

(2) Only 11 follows e ome branches are bananas.
‘Gonslusions: I. Some mangoes are

{3) Only I follows o 4 bananas
(4) Only 11 follows A‘}f“tﬁa“; IL. Some branches are apples.

(5) Only IV follows NV

% . III. Some branches are

Statementa: All males are wolves: g », mangoes.
All owls are males, éj | IV. All apples are mangoes.

All parrots are owls: s

e

Conclusions: 1. All wolves az“‘. wls,
1. AR owls)ﬁ%%ves.
1. All paﬁ,g?f}hre wolves.
IV. All Pagzbls are males.
(1) All follow
(2) Only 11l and [Vel
(3) Only 1I angdIFptiow
(4) Only I, Mhand 1V follow

(5] Non h& se
Btatqniﬁ: Some leaves are skies.
d% g, All skies are clouds.

No cloud is a boat.

Corlclusions: 1. Some boats are leaves.
II. Some clouds are leaves.
1. All skies are leaves.
IV. No leaf is a boat.

(1) Only 1, 11 and IV follow

(2) Only I, 111 and IV follow

(3) Either I or IV and II follow

(1) None follows

{2} Only 1 and I follow
{3) Only 11l and 1V follow
(4) Only 1 and 1V follow
(5) All follow

Directions (40 - 50): In each of the questions
below are given four statements followed by
three conclusions numbered I, I1, and III. You
have to take the given statements to be true
even if they seem to be at variance from
commonly known facts. Read all the
conclusions and then decide which of the
given conclusions logically follows from the
given statements disregarding commonly

known facts.

40. Statements: Some nails are plates.
Some plates are disks.
All disks are mirrors.
All mirrors are tyres.

Conclusions: I. Some tyres are plates.

II. Some tyres are nails.
I11. Some mirrors are plates.
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43.

a4,

L4

{1) Only 1 and 11 follow
(2) Oniy I and 1t follow
{3) Only Il and 1l follow
{4) All I, IT and 111 follow
{5} None of these

Statements: Some windows are lakes.
Some lakes arc forests.
Some forests are hills.
All hills are curtains.

Conclusions: I. Some hills are windows.

II.Some curtains are 45.

lakes.

L. Some forests are windows.
{1} None follows
(2) Only 1 follows
{3) Only 1 follows
(4) Only HI follows
(5} Only I and III follow
Statements: All tapes are branches.
Some branches are roads.
All roads are fruits,
Some fruits are trecs,

Conclusions: 1. Somec trees are

pcs
II. Some fruits arc-lipc
1. Some fruits srebranches.

(1) None follows %
(2) Only 1 follows ‘@’

(3} Only 11 follows
{4) Only i1l follows Ia
(5) Only 11 and HI#’QIIO\&
Statements: Som ypearls are chairs.
&{Al x:halrs are trucks.
me trucks are bricks.
;ﬁ All bricks are cars,

Conc?n.lol;.-l: I. Some cars are chairs.

QV I1. Some cars are trucks.
IIl. Some trucks are

pearls.
{1) Only I and 11 follow

(2) Only I and 111 follow
(3) Only 11 ang I follow
(4)All 1, Il apg 111 follow
(S5) None of these

Statements:

';46

47.

Some Nowers are houses.
All houses are tigers.

184

All tigers are goats,
Some goats are bulloC]{s_
I. Some goats are ﬂowcrs_

1I. Some tigers are “Owerg_
I1. Some bullocks are ¢ gers,
(1) Only 1 and 1] follow
{2) Only 1l and 111 follow
(3) Only [ and 11 follow
(4) All 1, 11 and [1I follow
{5) None of these
Statements: Alkca‘;}'
All jeepds are buses.
Rll,bfes are trucks,
Some trucks are pens,
#‘l

Conclusions:

g
,éi\ R

€ jeeps.

Conclusio 11 trucks are buses,

o ;‘I o ~* . All buses are jeeps.

III. All jeeps are cars.
‘&f\l  follows

1 follows

@’{31' Only 11l and 1 follow

{4) Oniy 11l follows
{5) None of these
Statements* Some skies are rains.

Some rains are stars.
All stars are planets.

All planets are clouds.
Conclusions: I, Some clouds are rains.
II. Some planets are skies.

IH. Some planets are rains.
(1} Only I and II follow

(2) Only 1and 111 follow
(3) Only Land 111 follow
(4 ANL Tand iy follow
{S) None of these

Statementa: Some books are pens.

Some pens are watches.
All watches are books.
Some books are windows-
I. Some books are watches.
1. Some books are not pens-

II1. Some watches are not
books,

Conclusions:

1 .mnh.m.;iﬂ
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49,

Aot c%ns:
._% i

(1) All Tollow

(2) Only 1 and 1! follow
(3) Only 1 and 11 follow
(1) Only H and 11 follow
{(5) None of these

Statements:  All spoons are bowls,
All bowls are pans,
All pans are sticks,
All sticks are knives,
Concluslions;

1. Some knives are pans,
II. Some sticks are bowls,

III. Some pans are Spoons.
(1) Only [ and II follow
(2) Only 11 and HI follow
(3) Only I and I11 follow
(4} All 1, 11 and 111 follow
{5} None of these
Statements: All threads are walls.,
All lamps are walls.

Some Kites are lamps.

Conclusions:
I. Some kites are wal
L Some lamp#pfe threads.
{1) None follows ‘%‘J
(2) Only I follows
(3) Only II follows
(4) Only 111 follows
(S) Only I and 111
Statements: .

-

tables are chairs.
me chairs are wheels.
%Somc wheels are boards.
" @%’ Some boards are chalks.
I. Some chalks are wheels.
II. Some boards are chairs.

{1} None follows

{2) Only I follows

(3) Only 11 follows

{4) Only 111 follows

(5) Only i1 and 111 follow

Some lamps are ray @
I. Some kites are threads®4.

III. Some wheels are tables.
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